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% K 80 & 88.8 61.9 113.3 344 821 14.7 112.3 96.2 108.4 99.9 125.6 21.3
81 & 84.0 56.0 100.8 346 93.2 14.6 105.1 92.2 107.0 99.8 105.9 22.5
82 & 84.1 62.3 114.2 26.6 805 14.2 100.1 90.9 106.1 99.8 105.3 23.8
83 # 83.0 57.3 106.7 247 935 14.4 96.4 89.3 107.7 99.7 107.1 23.1
84 & 85.3 56.3 108.0 347 83.6 14.7 96.3 88.6 110.2 99.7 113.6 25.4
85 # 83.0 48.6 100.6 359 782 12.7 96.0 87.4 110.8 99.9 110.4 26.2
86 # 79.4 53.9 106.2 343 707 11.2 94.7 86.2 96.7 100.0 115.7 26.1
87 & 78.8 51.9 96.8 31.8 629 10.6 92.7 85.1 85.1 100.0 131.3 27.3
88 & 775 58.0 1035 341 559 9.6 93.9 85.9 80.4 100.0 120.7 26.9
89 # 79.3 58.6 106.1 29.0 457 11.6 93.5 84.1 83.5 100.0 129.6 28.5
90 # 81.3 545 100.4 273 36.6 9.4 91.8 87.8 85.6 100.0 141.3 28.0
% —f 80 1 -7.5 -7.4  -12.9 -7.1 -455 -5.3 -20.5 -8.4 -22.8 0.1 15.7 6.7
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% K 80 # 415 34.2 1133 20.1 8238 5.2 111.1 98.1 112.8 99.9 143.8 21.3
81 # 39.4 30.0 100.8 19.0 959 4.7 105.0 94.5 110.6 99.8 127.4 22.5
82 & 40.2 326 114.2 196 817 4.6 102.3 92.8 108.6 99.8 128.2 23.8
83 & 38.7 29.1 106.7 20.3 954 4.8 98.7 91.0 109.6 99.7 136.6 23.1
84 & 37.5 28.2 108.0 25.8 847 4.7 99.0 89.8 111.5 99.7 142.6 25.4
85 # 37.3 26.8 100.6 242 79.3 4.6 98.1 88.6 112.3 99.9 135.9 26.2
86 & 371 30.2 106.2 216 710 4.0 96.4 87.3 100.2 100.0 1324 26.1
87 & 36.8 285 96.8 205 62.7 3.9 94.1 87.1 90.8 100.0 147.3 27.3
88 & 35.9 29.8 103.5 22.1 542 3.3 95.8 87.1 86.6 100.0 134.6 26.9
89 & 35.6 28.7 106.1 20.2 443 4.0 95.0 85.4 90.3 100.0 143.6 28.5
90 # 34.7 26.4 100.4 206 354 3.1 92.9 88.7 93.2 100.0 156.7 28.0
90 £ 80 -6.7 -7.7 -12.9 06 -474 -2.1 -18.3 -9.4 -19.6 0.0 12.9 6.7

(F » %)




